685/Comm SKBU/UG/6th Sem/Comm/RT6/21 g) Give two reasons for low agricultural growth

in India.
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h) What is the full form of WTO?
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COMMERCE
WTO-93 5 aN @1¥ |
Course Code : BCOMGERT6 i) What is PDS?
Course Title : Indian Economy PDS &2
Full Marks : 40 Time : 2 Hours i)  What is dual economy?
The figures in the right-hand margin indicate marks. tae wigife FIF A2
Candidates are required to give their answers in their k)  Give two examples of small scale and cottage

own words as far as practicable.

Answer any ten questions: 1x10=10

@~ WS eeas Ted wie ¢

a)  Mention any two features of Indian economy.
CiReR wdifed @-@Ie 7o @ Sad 41

b) Which sector contributes more in Indian

economy?

@ GRSV SRR fGfeiere @ e

c¢) What do you mean by proverty-line?
iR @4l @IS O E@RI2
d) What is Green Revolution?
e [ e
e) What do you mean by 'per capita income'?
'Per Capita income' J&Ce F (AR 2
f)  What is disguised unemployment?
TR ([FTG FI 2

[Turn over]

industry.
T ¢ Foa Mierm gt Trigge wie |
1)  What is meant by sex ratio?
ot SRysile 0o F @RI?
m) What do you mean by sick industry?
o s @It @R
n) What do you mean by public sector
undertaking (PSU)?
ABTE (Fg IO F @RI2
o) Give the full form of NABARD.
NABARD-¢3 #tal <% &2
Answer any five questions: 2x5=10
@~ Ao aesi Ted mie s

a)  What do you mean by sectoral composition of

National Income?
TOR SIET CFaare [ e F @REe
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b)

g)

h)

3.  Answer any two questions:

Mention three methods of measuring proverty.
viesis SR foa smfon w1
What do you mean by optimum population?
TR GRS IR 2

Mention any two systems of measuring

National Income of India.

IS GTOR O AR 7o Mafod Sae 39|
Give two pros and cons for the agricultural
mechanisation.

3 TR 2I0F 8 [eATw b F@ IR (S |
What is vicious circle of poverty?

MEe 13 e F @RI

What do you mean by social cost inflation?
Jerifen AEifes 8 I@0e F @RI

What is 'Sustainable development'?
'Sustainable development' JECe FI (IR ?
5x2=10
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a)

b)
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Briefly describe the problems of measuring
National Income in India.

SRS SR SR A el ke
ARl < |

Point out the sailent features of Green
Revolution in India.

SRS e REEA o1 @R SIEThal 3|

[3] [Turn over]

4.  Answer any one question:

What is public sector undertakings? Discuss the
importance of public sector undertakings in
India.

GRS (Fg I AE2 RS AZRE CFaH WFg
RUGIPRIESE

10x1=10
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a)

b)
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Discuss the importance of agricultural sector
in Indian economy.
SR TLAifore FRCFEH wFg G 39|

Briefly describe the relation between

population growth and economic development
in India.

SIRACSA TR I 8 TLAGF SHACT TG
A ST |

Describe the different aspects of 1991 Industrial
policy in India.

wEre 1991 Ferm Femifen fafon el
RUGIPRIESE
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